DUNGEON MasTERs INVENTORY
GRACE WiN DAIE

Bic ScreeN AssemBLY GUIDE

WWW.GRACEWINDALE.COM



How 1o PrINT

Bie DM SCREEN WILL ACCOMODATE ALL OF
YOUR GAME ACCESSORIES, FROM MINIS TO A
TABLET OR CHEAT SHEETS!

To PRINT THE SCREEN SHOWN YOU NEED TO PRINT FOUR A4 OR
LerTER sEcTIONS AND DicE TowER. IT 15 POSSIBLE TO
CONNECT MORE THAN FOUR SECTIONS IF YOU PREDER, HOWEVER
THE SCREEN WON'T BE ABLE TO FOLD AS INTENDED.

AssEmBLY REQUIRES M3 COUNTERSINK BOLTS AND NuTS. THIS
ENSURES NOTHING FALLS APART IN THE MIDDLE OF YOUR
ADVENTURE. YOU CAN FIND THEM IN YOUR LOCAL HARDWARE
STORE OR ORDER ON AMAZON: HTTPS://AMZN.T0/48Z7606

You WILL ALSO NEED ANY KIND OF PLASTIC GLUE IF YOU WANT
TO USE ORNAMENTS OR GLUE NUTS INSIDE SOCKETS.

IF YOou DECIDE NOT TO USE ORNAMENTS, PRINT THICK SIDE CAPS
{_NO-ORNAMENT IN THE FILENAME). THEY WILL PREVENT THE
HINGES FROM SLIDING APART WHEN YOU LIFT THE SCREEN.

INSTEAD.OF PAPER CHEAT SHEETS OR PICTURES, YOU CAN
ATTACH CORK OR MAGNETIC SHEETS, USING THICKER SHEET
HOLDERS.

CHECK OUT THE VIDEO: HTTPs://Youtu.BE/JFANvoANwWFe

FuLL coNFIGURATION OF THE B16 SCREEN REQUIRES 3-4. SPOOLS
OF FILAMENT.

ALL PARTS ARE ORIENTED IN THE DIRECTION THEY PRINT BEST.
FEEL FREE TO EXPERIMENT WITH ORIENTATION OR ADD
SUPPORTS IF YOU FEEL THAT IT IS NECESSARY FOR YOUR
PARTICULAR SETUP.

RecoMMENDED sETTINGS FOR FDM:
INFILL: 10%-15% (70-100% FOR HINGES)

LLAYER HEIGHT: 0.2 MM

I REQUIRED, USE cusTOM OR TREE suUPPORTS IN Cura or Bamsu
Stup1o AND PAINT-ON supPPORTS IN PrusaSLIcER. FILES THAT
REQUIRE SUPPORTS ARE MARKED WITH * IN THE GUIDES BELOW.

CONSIDER ENABLING A BRIM FOR SMALL PARTS OR IF YOU PREFER
TO PRINT FILES SUCH AS SHELVES VERTICALLY.

You MIGHT NEED TO CUT SOME HANGING STRINGS OF FILAMENT
DURING POST PROCESSING.

Joi¥ our DISCORD FOR SUPPORT!
HTTPS://D1scorD.com/InvITE/DoN8JvpYsk



A4./LETTER SECTION PARTS GUIDE # Pro 1ir: soRew moLTs UNTIL You FEEL Fees N,

RESISTANCE — IT MEANS THEY CAUGHT THE

~ut. HOLD NUTS WITH ANOTHER SCREW 12 x M3 10-12MM COUNTERSINK BOLTS
@ ESSENTIAL PART DRIVER OR SOMETHING SIMILAR IF YOU PREFER 4x Mg 6GMM COUNTERSINK BOLTS
® OPTIONAL PART NOT TO GLUE THEM INSIDE A SOCKET. 16 x M3 NuTs
2 % SCREEN-PART_A (A4 or LETTER)
SCREEN/SCREEN-PART_B.sTL 2 X SCREEN-PART_B (A4 [0):1 LETTER)

2 % SCREEN-PART_C1

/ SCREEN/SCREEN-HINGE-B.sTL T % SCREEN-PART_C2.

SCREEN/SCREEN-CAP-cut-L

IX SCREEN-CAP-CUT-R_NO-ORNAMENT
_NO-ORNAMENT.STL OR

ATTACHMENTS/ORNAMENTS/ I X SCREEN-CAP-CUT-L._NO-ORNAMENT
SCREEN-CAP-CUT-L.sTL 2 X SCREEN-CAP-STRAIGHT_NO-ORNAMENT
AtTacHMENTS/ORNAMENTS/ I % SCREEN-HINGE-A

ArtacumenTts/HoLpERS/ /
SHEET-HOLDER~ 04.MM

SCREEN-CAP-CUT-L,_ORNAMENT.STL
(08MM, 2MM).STL

I X SCREEN-HINGE-B

2 X SCREEN-HINGE-CAP

4(8) x SHEET-HOLDER-04/(08, 2)MM
4(8) x SHEET-HOLDER-ORNAMENT

SCREEN/SCREEN-HINGE-CAP.STL

ArtacumenTs/Latc/ SCREEN/SCREEN-HINGE-A.STL
Latcu-L(R).s1L I X SCREEN-CAP-cuT-R
o~
lSCREEN/SCREEN-CAP-CUT-R 1 % SCREEN-CAP-cuT-L.
_NO-ORNAMENT.STL OR 2. X SCREEN-CAP-STRAIGHT

A1TAcHEMENTS/ORNAMENTS/
pekialieti ol Yo I X SCREEN-CAP-CUT-R_ORNAMENT

SCREEN/SCREEN-PART_CLSTL I X SCREEN-CAP-cUT-L._ORNAMENT

2. X SCREEN-CAP-STRAIGHT_ORNAMENT
SCREEN/SCREEN-PART_C2.STL

Pesvorimes) 5 X SCREEN-SHELF (OR VARIANT)
SuELVES & DrawERS/ %
SCREEN-SHELF.STL 1% LaTeH-L(R) (or VARIANT)

2 % LATCH-RING
ANy PLASTIC GLUE

SCREEN/SCREEN-PART_A.STL

- i
E " " Arracuments/HoLpers/ o/ -

SHEET-HOLDER-ORNAMENT.STL

AtTacuMENTS/ORNAMENTS/

SCREEN-CAP-CUT-R_ORNAMENT.STL e TS O nran s

SCREEN-BACK-CAP-ORNAMENT.STL

ATTACHMENTS/ORNAMENTS/
SCREEN-CAP-STRAIGHT_ORNAMENT.STL

SCREEN/SCREEN-CAP-STRAIGHT_NO-ORNAMENT.STL OR
ATTACHMENTS/ORNAMENTS/SCREEN -CAP-STRAIGHT.STL

ALL PARTS FIT 18 X 18 CM BUILDPLATE AtTacHMENTS/ORNAMENTS/
SCREEN-BACK-CAP-L(R)_A4(LETTER).STL
(Prusa Min1 or Bamsu Mint)



AccessoriEs & VARIANTS

You cAN CHOOSE BETWEEN DRAWERS WITH OR WITHOUT ORNAMENTS,
DIFFERENT LATCHES AND DECORATIVE ELEMENTS.

i

AT
.“
bt

U

ArtacuaMENTS/HOLDERS/TABLET-STAND

ATTACH THE TABLET STAND TO THE PLAYERS FACED SIDE
WITH A COUPLE Mg BOLTS OR USE SEPARATELY

AtTACHMENTS/
Suerves & Drawers

ArtacumeNnTs/LATCH

® Pro TIP: GLUE SOFT OR HARD
MAGNETS IN THE SLOTS!

ArtacumeNTs/HoLDERS/
TABLET-HOLDER

THIS HOLDER IS FOR DM FACED
SIDE OF THE SCREEN



Dice TowWER PARTS GUIDE

ASSEMBLY REQUIRES:
8 x M3 10-12MM COUNTERSINK BOLTS
(or M3 20MM FOR SCREEN ATTAGHMENT)
8 x M3 Nuts
12 x M3 6-12MM COUNTERSINK BOLTS
I ¥ TOWER-PART_A
TOWER-PART_A.STL i X TOWER-PART_BI*
I X FRONT_TOWER-PART_B2, (OR VARIANT)
PIcTURE FRAMES/ I X BAGK_TOWER-PART_B2, (OR VARIANT)
TOWER-PICTURE-FRAME.STL
1 ¥ TowerR-PART_CL
1 x TOWER-PART_CR
I X TOWER-DICE-TRAY.STL (OR VARIANT)
2 ¥ DRAWER-HANDLE-RING-I
2 X DRAWER-HANDLE-RING-2 (OR VATIANT)
I ¥ TOWER-PICTURE-FRAME (OR VARIANT)
4 % SHEET-HOLDER-04MM (08MM, 2MM)

@® ESSENTIAL PART
@ OPTIONAL PART

Artacaments/HoLbERs/ /

SHEET-HULDER-O".MM
(08MM, 2MM).STL

AG suErT ToweR-PART_CR.sTL

4 ¥ SHEET-HOLDER-ORNAMENT
2 x LATCH-L/R (OR VARIANT) + 2 X LATCH-RING
BACK_TOWER-PART_B2.STL IF ATTACHED TO THE SCREEN

Artacaments/HoLbERs/
SHEET-HOLDER-ORNAMENT.STL

*SUPPORTS REUIRED

ToWER-PART_CL.STL

FRONT_TOWER-PART_B2.sTL

TRAY/DRAWER-HANDLE-RING-1&2.5TL

TOWER-PART_B1.sTL.*
TRAY/TOWER-DICE-TRAY.STL

Bie S/ﬂzEEN/

Artacaments/Latcr

ALL PARTS FIT 18 X 18 CM BUILDPLATE
(Prusa Min1 or Bamsu Mint)



AccrssoriEs & VARIANTS

ArtAcHMENTS/
You CAN ATTACH VARIOUS EXTRAS TO THE TWO-WAY TOWER-LID.STL

ATttacHMENTS/ ‘

INITIATIVE-TRACKER-PORT.STL

DICE TOWER TO ENHANCE YOUR SCREEN EVEN FURTHER.

IntTIaTIVE TRACKER™ Time & WEATHER TRACKER™

ATTAcHMENTS/
ATTACHMENT-PORT-PART-A.STL

ArTacEMENTS/
ATTACHMENT-PORT.STL

ArtacumENTS/ ArtacuMENTS/PICTURE FRAMES

B2 variants
PERSONALIZE YOUR SCREEN
WITH DECORATIVE PANELS
ArTacEMENTS/
ATTACHMENT ——
_MINT-STAND.STL
ArTacEMENTS/
ATTACHMENT-BOX-VI.STL
ArTacEMENTS/

ATTACHMENT-BOX-V2.STL

ATTACHMENTS/
ATTACHMENT_PHONE-
HOLDER.STL.

ATTACHMENTS/
ATTACHMENT-PORT-
PART-B.sTL

* Not ivcLuDED. GET IT HERE: HTTPS://WWW.GRACEWINDALE.COM/COLLECTIONS/DMS-INVENTORY






Duxazox Invextorr '
QRACMEWNDA@ 5
3D PRINTABLE |

GAME MASTER SCREENS
‘ AND ACCESSORIES

@ carcnpy




ZD&N EON MasTEggs INVENTORY
CRACEWINDAIL ;



RS0 LNVENTORY £

GRACM NDAIE /‘

3D PRINTABLE
GAME MASTER SCREENS

AND ACCESSORIES




g

rolls again:
gainst you have advantage, ang your attack rolls h;
S haye

X or harm charmer. Charm
G er has advantage on abil;
g ility checks to i
S to interact social)
y

with you,
bear and automatically fail any ability check that requires hearj
ing.
disadvantage on abilit
g y check: S i ]
e s and attack rolls while source of fear js within line of. sight. Yc
- You can't willingly move
becomes 0, and you can’t benef;
b \ Y nefit from any bonus to iti
fiect removes you from the reach of the grappler or graz‘:llirni::;i;r e SR

't take actions or reactions.

ble to see without the aid of magi i
magic or a special sense. Your location cas

: . X 2 x n be det ise i k
tleaves Attack rolls against you have disadvantage, and your attack rolls have :;::rl\;)é: el Sty
fail Strength and Dexterity savi
fa ing throws. Attack rolls against
hit if the attacker is within 5 feet. S
ormed into a solid inanimate substance and incapaci '
T ipacitated, can’t move or speak, and unaware of i 2

st you have advantage. You automatically fail Strength and Dexterity : b e A

: s & } saving throws. You have resistance to all damage
nmune to poison and disease. A poison or disease already in your system is suspended, not neutralized. 2

itated and can’t move or speak. You automatically
ve advantage. Any attack that hits you is a critical

Acreatur
J e
<€ Within range

ks
ol ke Brget i g

- ! | " the commang g <212 Wisdo
: 5 undeag,fi gy .
ave disadvantage on attack rolls and ability checks. 3 e

bt andge

0d1o2 ey,
targer
m,

only movement option is to crawl, unless you stand up. You have disadvantage on attack rolls. An attack roll against
has advantage if the attacker is within 5 feet of you. Otherwise, the attack roll has disadvantage.

speed becomes 0. Attack rolls against you have advantage, and your attack rolls have disadvantage. You have disadvantage
Dexterity saving throws. A

pacitated, can’t move, and can speak only falteringly. You automatically fail Strength and Dexterity saving throws.
<X rolls against you have advantage.

remaininthe gy 1 B minimur e e
are paralysed and unavare of surroundings. You drop whatever you are holding and fall prone. A
When you casy this
e s spell using 3 5
/ < Jou canalfct one ad o yparee o224t

3 S € Creatures must be ihj for each dot leve above 1,

ENVIRONMENT 1 . i
DYING

target the, 0 fectof exch o i

Td6 bl i 20d6. Prone if
1o 0 hit points and there is damage 146 bludgeoning damage pes 10 feet, to a maximum of 2046

cesyou'to O h 1 s
f the remaining damage equals ot exceeds your St b
‘A creature can hold its breath for a number o' B
Constitution modifier (minimum of 30 seconcs): id
t of breath or is choking, it can survi X
to its Constitution modifier (minimum O

r of minutes equal to 1 + its
10US :
youto0 it points and fa_ils to kill _you, y;\i}((all Sy
snconsciousness ends if you regain any : w‘h asSmis et
turn o it points and is dying, and it
i it drops to 0 hit po! L
art of its next turn, it drop ICpe I e e
- j = S it poi tabilized until it cai

R 7 y in hit points or be s : S

e e : o rcga:‘BSCU‘]’LED (1M LIGHT, PATCHY FOG, OR MODERATE
LIGHTLY

z i s

: 4 Otherwise, you fail- T e
higher, you succeec. ! ception) ched
th:zo jt counts as two failures. If you roll a 20 on Disadvantage o ‘Wisdom (Per gp;.qua *o0, OR DENSE FOLL AGE).

ARKNESS, e ying to
o 1 hit point. /HEAVILY OBSCURED (Dﬁ from the blinded condition when try
Fectively suffers A

become stable- creature € Zan

ing in that area-
<ee something in
utive; keep track ‘\\—
need to be consec!

i of both is reset
»u collect three of 2 kind. The numbt:ble EXHAUSTION
s regain any hit points or become stable.
e CUMULATIVE EFFECTS.
il when you are at0
e 2y on S ehealed You besome
144 bours i 2
i taking damage-
0 Firr POINTS

Disadvantage on 2011 ch

4
Speed halve:

. age on
5 ints, you suffer a Disadvantage
e while you have O BIt PR V0L 01y you Hit point M

damage js from a critl i
throw faluce. [ the d3mA€ 0 1o, cxceeds your bt speed reduce
instead. - Death

(tack rolls and saving o
T

m halved
dto0




